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Group IV 2012 BOTANY

. Consider the following statements

Assertion (A) : Reverse osmosis is used to purify water

Reason (R ) : It is a membrane technology filtration method that removes many types of
large molecules and ions by applying pressure to the solution on one side of a selective
membrane

Now select your answer according to the coding scheme given below

a. Both A and R are correct

b. A is correct, but R is not relevant

c. A is not correct, but R is correct

d. Both A and R are wrong

SIPHHWIL UTSHPLMIGHENETS  SH6160T:

apo (A) sl FeleyB LJeusd BHenjH SMUIMLLILESHSISID 2 He Bl

amenb (R) : @& o Faale cpsod Hawh OHTHOWensB algsl HHed S GBI L
golaler oG SIRHFHD CFaISHIeuHTe0 WS Uil SieTallevTeT (LPeVSEMIS6NT MBI

DI FH6T HHBLILBS I

SpdbaseniauBpled 61k sflwmerg? S6p GBIULIL (BeTen GMluiliged alewLenwsd CHTHOHB:

a. (A) wppw (R) sflwreremeu

b. (A) sflwren ampm pemmed (R) i@ siwner alenssd iev6v

c. (A) seoupreangl, spemed (R) aflwmerg

d. (A) wspd (R) seumprearene

. Match List I with List II correctly and select your answer using the codes given below

List I List II

a. Fission 1. Yeast

b. Budding 2. Flowering plants
c. Fragmentation 3. Bacteria

d. Pollination 4. Algae

Codes:
A B C D




a 3 1 4 2
b 1 4 2 3
C 4 2 3 1
d 2 3 1 4

ulpwed ey ulwe Il o L&t QuImsE, SC CEmhHobsiul (BHeten @Guluibhsmend
Caremi® gflwmer allewLemuwd CHiTHOHMH:

U iguied | ulguied |l
a. enghae0 1. meroL
b. G’ Hesei 2. USGID STOUTBIBET
C. SHIEWILTGH6D 3. umdlerflwim
d. waIHssF GFTHMD 4. SLELHT
[GNCEINE

A B C D

a 3 1 4 2

b 1 4 2 3

C 4 2 3 1

d 2 3 1 4

. Green manures can be obtained from which of the following?

a. Cow dung and plant wastage b. sun hemp and cluster bean

c. Sun hemp and Cow dung d. Cow dung and animal wastage
UShHSTeT o JIb SpdTeniLeuBmlen e185ed(hba QUBLILIGSBSH?

a. UGEhITewID OBHID HTeurdh SHfeHeT b, Favlienu wBDID QETHHalemy

C. FeuillenLl LWOBMID LGiEhIFT6mID d. ugsehamenid WHBEID aleVRIGDH BL6|H6iT

The bottle lid made of cork is viewed with the help of lens. There are many

chambers in it. This observation by ................ led to the discovery of cell
a. Gregor Mendel b. Charles Darwin
c. Robert Hooke d. Robert Brown

srTdglener Oevsidlermed CrTh@ld CuTg L SimBsaTss OFfdlamear. @bsH HapFd
CLPGULD  HTAUTRIHET LIGD OF60SHENTED SLeTen6l 61eml  &H6wiL MlHSHeUT

a. HMsT G660 b. gnireverd Lmitelest

C. ®umuTl amed d. @ymum’ AOyeyes

. Raw materials of photosynthesis are
I.  Sunlight, Chlorophyll
I.  CO; H20

III. ~ Sunlight, Biliprotein

IV. H>0O, vitamins

Of these
a.l&IV b. I &IV .l &II d. III & IV
eMFCaTdma HLOUBSH BHeweuwlimer (oHESWIL LPeOLIGILIT(HL H6IT

l. &flw @ef usmISNSD




I1. CO2, H20O
. g&fw gef, ousd Lysd
IV. H2O eneul_L1Oeiabeit

BeuBpie:
A l&IV b. Il & IV c.l1&ll d &IV
. Match the List I with List II correctly and select your answer using the codes given
below
List I List II
a. Brinjal 1. Legume
b. Apple 2. Berry
c. Pea 3. Septicidal Capsule
d. Lady’s figure 4. Pome
Codes:
A B C D
a 2 4 1 3
b 4 1 3 2
c 3 1 2 4
d 1 2 3 4

ulwed lgg ulywed Il o Ler QuImBSS, 6P CaEThoslULBeTer GBuiBsamend
Camenih sflwrer alemLamwd CaHibHolsM:

U iguied | uguied I
a. a5 1. Gevduyld
b. eyniei 2. Qi
C. ulLmewmil 3. o Geugsel
d. Geuerent 4. Gumb
A B C D
a 2 4 1 3
b 4 1 3 2
C 3 1 2 4
d 1 2 3 4
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7. The Common Chemical used to purify muddy water to drinking water is

a. bleaching powder b. potash alum

c. chlorine dioxide d. copper sulphate

SHOMDEWT HeVbHSH BV ST HITSH IBBLILWSTLL SSUILGL Gurgleurer GaudlliOummeT 61g?
a. FELMAUSHHIT6I b. wgsmyb

c. &Benmilenr emL SLHm6NV(H d. wuled guHsD

8. The role of aluminium in aluminothermic process is

a. oxidizing agent b. catalyst

c. reducing agent d. moderator

SIVIOGeIT Geulil @bhdbas (Wemsuled Sitlelwushaer LmiE

a. 9HenMGeam b. eleneaiGeus LoTHH

C. bsHP d. wlLréd

9. Match List I with List II correctly and select your answer using the codes given below

List I List II
a. Finely divided nickel a. Oxidation
b. Acidified potassium dichromate b. Reducing agent
c. Loss of electrons c. Reduction
d. Gain of electrons d. Oxidising agent

Codes:
A B C D

a 2 1 3 4

b 3 2 1 4

c 2 4 1 3

d 1 2 4 3

uluied Iy uluwied II o e QuImsHEH, S6 CaTBHBUILL(Heten GBluibsamens CaTewi(h
gflwmer alenLemwld BHThHOH6H:

U guied I ulguiedy II
a. BelG SHIEMMSSLILLL HEHHeD 1. oudbenIxGaBmLd
b. sufevmisehs QuUILLTSund L @G8ymentol 2. @bds alener HTyewl
C. 616UGL e BLDd&H6V 3. bBHsHLD
d. eTevd1 et GIBMeD 4. o HemlegGeri)
G&Bluibseir
A B

an oo
_ N W N

Nl e
W WA R

1
2
4
2




10. Which one of the following is correctly matched?

a. pH value - S.P.L. Sorenson

b. Acid - Faraday

c. Battery - Arrhenius

d. Germanium- Conductor

SlpdaTemiueuBmled 61k Filwned QUTHGHSUILL (Heiteng)?
a. pH wdiie - S.P.L. Gamyeizes

b. sdeod - umyGL

C. LOl6ITEH6V6HT - 9lTanseiluwerd

d. Oggmomefund - 0eTBL HFH
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11. Microsoft Excel can be used for

a. creating charts
c. navigating web pages

b. creating documents
d. creating sound files

m&EGITEFTUL. 6186660 SPSHEemTLeuTsl LIWGTLIGS BSI
a. UMJLLLD & (HeUTHSH

C. Bmewil HeMHH60 2 6061

List1I

a. Present day
b. First

c. Second

d. Third
Codes:

an oo

A
2
4
3

1

=N W

b. sieuemihiseT o (HeuTtdhs

d. 9a9&GaMIsmen 2 (HalTdhas

12. Match List I with List II correctly and select your answer using the codes given below
(Generation of computers)

R N e
NN R

List IT

1. Valves

2. Integrated Circuits
3. Fifth generation

4. Transistors

ulwed I o uluwed I o Ler GQuTmsHd, HCp Garhésiiul Beren GPuibsamend GasTewih

gilwnen alewLenuwld Csihos6h:
(pewilel HEN6OLPMBSS6IT)

uiguied 1 uCguied 1T
a. sBlUTMSHU HEmeV(LPNB 1. 6UT6L6Y&B6IT
b. wxevTeugi 2. QUHRIBDMIHS O6THMmemD3
C. ByenlLmeugl 3. WHSHTD HEMEV(LPeND
d. cwpemreug 4. 1gymetdlerdL T

GBuibsseir
A B C D

a 2 3 4 1

b 4 2 1 3

C 3 1 4 2

d 1 4 3 2
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13. Which one of the following is not a function of the Reserve Bank of India?

a. Issue of currency notes of various denominations

b. It is the banker to the Government

c. It is bankers bank

d. Issues credit to individuals

Letteu(heusteuBmien @bglul Maeu eumidluiler Lewil Sie0eoTHSHI 61517
a. uevBeum wglileomer emUTUI GBHTL (BHHHEN6N  AULDMHIEGSH60

b. aysmhiIssSHBETET MBIBHWLTSE OFUIOLIGHED

C. aUmIFHaNer URSWTSS OFweOLBHH

d. sef BUTEEDEGHDS BLET GUDHIGHHE0

14. In the contact of consummation, the term ‘Aparigrapha’ means

a. limiting our wants

b. satisfying with minimum needs

c. satisftying only what is necessary

d. all of these

BIBTe] 6B LU FhHeo ‘oufsars eemger Qumme
a. Cxemeusmend &L BLLGSHSHIHED

b. gophaU F CoHmeudsemen LTHE OFuIHe

c. a1z CohemeuBunm SeuBenms WL BD LiHH OFu1ghed
d. @meal SIMRTHSHID

15. Which one of the following is correctly matched?

a. Fifth five year plan - Generation of employment

b. Seventh Five year plan - Poverty eradication and self reliance

c. Eighth five year plan - Employment generation leading to achieve full
employment by 2000

d. Tenth five year plan - Growth with social justice and equality

SpHHMILauBsled 61 FHwmed QUTHHHISBHI?

a. WhHFHToUH WHBTEWI(H HIL LD - GeuemeveuruiIlienll o (HeUTEEH60

b. gmeus mBHTERIG SHLID - aupIewD QAL LOBMID  SHWISTTL

C. eIlLmoug MbHTewiB HL L LD - 200060 (W GouemeveuruiienLl FTHleGW Geuensvenul

2 (HeUTEEGHSH60
d. ussTUBH WHHTEWIH S L LD - Fpd HAHULGT eueNTFS BMILD FLoSHHIeID

16. Among the following taxes which is not considered as a direct tax?

a. Income tax b. Sales tax c. Gift tax d. Wealth tax
spsa1amib alflseaied e1gh ChT(ps aufl Sevev eaiLms® GBILLIGS?
a. eu(HLoTer 6] b. alBuener eur c. Geuglogd eurfl d. QgnsaE eur

17. In which tax the incidence and impact is on one and the same person?




18.

19.

20.

a. Income tax b. sales tax c. value added tax d. Service tax
abs eufluied eufl Bapab eufiFsenwuyd emeuT WEsH allwpdma?

a. eU(HLOTE  Gurf] b. elBuener e
C. HIgal Hourfl d. Goemeudssl Lewrd (sufl)
Match the List I with List II correctly and select your answer using the codes given
below
List I List II
a. First Five year Plan 1. Self Sufficiency
b. Second Five year plan 2. Agriculture and Industrial
development
c. Third Five year plan 3. Agriculture development
d. Forth Five year plan 4. Heavy industries development
A B C D
a 2 4 1 3
b 1 2 3 4
C 3 4 2 1
d 3 4 1 2

utuwed I &g uluwed I o L& Qummss), S8 CEThHEsULL (heten GUluibamend CsTewi(h
gflwnen alenLenwld BHihoSH0H:

U guied I ulguied II
a. (PHeL WbHFHTewi(B S LLD 1. saieiompe GLMBIZHED
b. SyewiLmb mbsTEHIH S LD 2. Gouenmewientp BWILD COFHTH6L 6ueNTEFS]
C. CLPEIBTD MbHTENI(BH HL L LD 3. Gouenmewiento eueMiTEFS
d. preismd MbaTEwH S LD 4. sIHSH OFHTLH60 euenTFS]
A B C D
a 2 4 1 3
b 1 2 3 4
C 3 4 2 1
d 3 4 1 2

Among the following which is not related to Industrial Development and Finance?

a. TIDCO B. SIPCOT C.TIIC D.ITC

FSHMIL_auBmIeT ‘COFmPed eauenidd wBEId HHuHel e gempuies SpauTs Bmieled
61&I?

a. 191" Gsm b. Fism’ C. 195 d. mupd

Which of the following oil companies is not a public sector company?

a. Chemical Petroleum Company

b. Mangalore Refineries & Petrochemicals

c. Hindustan Oil Companies Ltd

d. Reliance Petroleum Ltd

QUTHISHIB HBIUBISHH T S UITSH 6T6wIOIIU] HIBIEUGTID SLDDHSHETL UBMIGT 6157

a. OFetemenr GuL Gymadwid H1bGILIGDT b. whisenT @by & QU Grm Gaiildaeen
C. OhHIHIEVSTE UL HLOOILIGTSH6IT d. Memeowietterd G Grmeduid OG-
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21. Which is caused by the gravitational attraction between Moon and Earth?

a. waves b. Tides c. Currents d. Tsunami
yalsgl FhAald@d @enl Cuiwmer Tl allenguilemsd 2 (Heumeug)
a. SIMCLBEIT b. @smisel C. BBy L Bibelt d. sermo

22. Olympic flag contains 5 rings representing five continents. Which two countries do not
touch Indian ocean?

a. Asia, Europe b. Europe, Africa

c. Europe, Australia d. Europe, North America

@6lbLld C&meuied 5 HWILMISM6eNDH GBGHGD UmBUTD 5 CUMETWIRISET, 2 _6ITeTel.
Sluppled 6% BH HWILMIB6T BhFH FUWPHHTHMBHSH OHTLalevensv?

a. yfwim, Gy b. eGymium, sy fdébasr

c. Gymium, LevaCredlwim d. :Gymiur, euL &GfdbasT

23. Which one of the following is considered as dwarf planet?

a. Saturn b. Venus c. Pluto d. Neptune
SpdbaemiLeupmien Wsald @GS Casmer wrg?
a. geol b. afarerd C. Lyeept GLm d. Gprnguyes

24. Pick out the correct statement
a. Lightning bolt is not hotter than sun
b. Lightning bolt is 3 times hotter than sun
c. Lightning bolt is not hot
d. Lightning bolt is very cold
&6 OaThaHalLL (BeTangled Fflwmaimsds CHTHOSH6:
a. Welteied Gflwener el GeulILTeISH DI60L6V
b. @3 @fwemer i cpem LkIE GCeulILTeIS)
C. ®5 GLIOGH D606V
d. 8z s aFHs GeltFfluneig

25. Match the deserts in List I with their respective countries in List II correctly and select
your answer using the codes given below

List I List II

a. Thar 1. Africa
b. Atacama 2. China
c. Sahel 3. Chile
d. Gobi 4. India

Codes:
A B C D
a 1 3 4 2




c
d

2
4
3

1
3
2

p—

4
2
4

ulpwed | (uremeveuemickse) & L lguisd |l (BT(H®6T) o et QuTmsHE, 6
CarhssiulBeten GBluiGsmend GameaB Fflwmer almLemwd BihO%H®:

U lguied | ulguied I
a. ST 1. onfésm
b. oLsmor 2. e
C. nBamse60 3. el
d. Gsmi 4. @bdHwr
[GNCEINE
A B C D
a 1 3 4 2
b 2 1 3 4
C 4 3 1 2
d 3 2 1 4

26. Consider the following statements

L.
II.

Mercury has the first fastest orbital motion
Mars requires 687 days to complete one revolution

III. ~ Saturn is the fifth planet from the sun

Which of the statement is / are correct?
a. I only b.IandII c.IIand Il
SDHHEWIL FnBBIHMET DLUIH:

I. Gamell Lmemguied e Gousons amEID CHmeT Ligei

Il. Gzeueuru) @Gflwenenr @hpedm FBleuy 687 BT &6 ChHemaulILBH B

. seaisBsmen @GiwealLbmhal 5 b B HFHe0 SiLDHBI6T6NSHI
Beupmien 61g / eTemeu &
a. | ol Bib b. I oBwid 11

d. I II and III

c. 1l wpgp 11 d. 1, oo I

27. In Tamil Nadu hill rocks are called by different names in different areas.

Match hill rocks areas in List I with their different names in List II correctly and select
your answer using the codes given below

List I List IT
a. Vellore 1. Kolli hills
b. Namakkal 2. Kalavarayan

c. Villupuram
d. Thiruvannamali

3. Gingee hills
4. Elagiri hills

Codes:

A B C D
a 2 3 4 1
b 3 2 1 4




C 4 1 2 3

d 1 2 3 4
SLODBTL 1960 26116  oeneLlILIGEHH6T GeuaiBGaum LG Heafed LeOGaMI GLIWITEH6MTED
SimpsHsILbGHemer. Uliguwed [ (eweoliLgdHser 2 e6ten LGHH6T) 23 Ul iguied 11
(eupper QUWITEeT) o et QuTh S, HC GaETheHsUIUL Beten GUBUIBHmend 6&HTem (B
gflwrer allewLedwid BCHihGHM:

U iguieo I ulbwed 11

a. Geugumi 1. O&TeLaIDEM6D

b. BTwSHSH60 2. B6LGUTUIGH LDEN6V

c. elgpuyyd 3. QFehd LDemeL

d. FHmeuemtennminemev 4. geodlfl 1Dem6V
GBuibGse:

A B C D

a 2 3 4 1

b 3 2 1 4

C 4 1 2 3

d 1 2 3 4

28. Which of the following statements is/are correct?
I.  InIndia, the winds that blow from north get deflected and come from the north
west. These winds are known as the retreating monsoon
II.  InIndia, the winds that blow from the north get deflected and come from the
north east. These winds are known as the retreating monsoon

Of these

a. I only b. II only c. BothIand I d. Neither I nor II
SPHHMIL  FnBBISHm6T QYITUIHSH 615 .. elemeu &Ml et QBTHSHSLILL [BHeiTen GHpluibHei
eweold CHiTe:

l. suLadedmba afsbd LaeaenLuyd Lmeusastby Lelulesr asppdulame sHens
omsl UL GoBaTs aigdBg. Geng LleTerenL WD LIheudbSTBM3I 6T6ILIT.
Il. ausHelmba aiad LereremLujb UmheusbstBml, Lalulesr sipBduleamed sHena
or UL HSETE aiGdBgH. Qs Ll UjD LI(HeUSSTBHI 6T6IILIT.

BeuBmle:
a. | ' @ b. Il w @Bw
c. | wigw 1l d. b Bevewev b Sevemev

29. Consider the following statements
I.  Himachal lies between Himadri and Siwalik ranges
II.  Passes are the natural gaps across the mountains

Which of the statements given above is / are correct?

a.lonly b.IIonly c. Both I and II d. Neither I nor II

BIDHHWIL FnBNBIHEMET DHUIH:

l. Buorsafl GaTLBS@GD - Fouredd OHTL(HHGW B uled SImLOHSHIGN6T ELOTFF60
Q& TLiT




Il. weevsEnEE& DL B BuBmsWTEC DIDWHSH LTend SHenTeuUTul slelILBLD
Baubmie 61g | eleneu &M?

a. |l wr@w b. Il wi @Gw

c. | wigd 1l d. b ®evemev b Gevemev

30. Match the List I with List II correctly and select your answer using the codes given

below
List I List II
a. Australia 1. Horses
b. South Africa 2. Bisons
c. Eurasia 3. Kangaroos
d. North America 4. zebras
Codes:
A B C D
a 4 3 2 1
b 4 3 1 2
C 3 4 1 2
d 1 2 3 4

utuwied | & uluwed Il o Lear QuIBSE, S BTHESULL (BeTen Guluibsamend
Camewih gflwrer alewLedwd CHiThHol%HMH:

U iguied | uiguied |l
a. oeaGredlwim 1. &1 (b5GH oy
b. Oxer ey lfdbsr 2. BTG (HewLD
C. wCreguim 3. SHBIBI(H
d. oL oGCwN&EsT 4. aufld@Hemy
[GNCEINE
A B C D
a 4 3 2 1
b 4 3 1 2
C 3 4 1 2
d 1 2 3 4

31. Which is the correct statement?

‘Ratooning’ is the process followed in the cultivation of
I.  Sugarcane

II. Paddy
II.  Cotton
IV. Jute
Of these
a. I only b. II only c. IIT only d. IV only

SIDHHWIL FnBNBIHEMET DLUIH:




SLILGHew Geulipul e Wemi(Bld euen(Bd (Wewmd@ ‘GrmiLmer eleim QUWT Sg)
erlinuifled QFWIWLILGSBSI?

l. &by
Il. Opsd
. umss
IV. Fewied
Seupmier:
a. | @ b. Il wi @Gw c. Il w @G d. IV @G

32. Match the List I with List II correctly and select your answer using the codes given below

List I List II
(Rivers) (Origin)
a. Mahanadi 1. Nasik Hills
b. Periyar 2. Mahabaleswar hills
c. Godavari 3. Amarkantak
d. Krishna 4. Cardamon hills
Codes:
A B C D
a 3 4 1 2
b 2 3 1 4
C 4 1 3 4
d 1 3 4 2

ulwed | & ulued Il o Ler Qumpgal, S8 GarTBasILL Beten GBuibsamend
Camenih sflwmer alewLemwsd CHiThHol%HMG:
Ul iguieo | uligwieo |l

(S1m1%61T) (Gaprelipid Gt 1b)
a. LOBHMHI) 1. p1fld GaTBIH6N
b. GQufwmi 2. 1DBTLGSIOGUTT LDGHEV
C. Gargmeur 3. SIDTHTEIL TS
d. A magewmm 4. SMTLIDGHT LDEN6V

GBuibGse:

A B C D
a 3 4 1 2
b 2 3 1 4
C 4 1 3 4
d 1 3 4 2

33. In Tamil Nadu the most windforms are with districts of

a. Kanyakumari, Coimbatore, Triuppur

b. Tuticorin, Kanyakumari, Tirunelveli

c. Neyveli, Kanchipuram, Chennai

d. Coimbatore, Erode, Dharmapuri

SLODBTL 196D SIFHS STBMBTEN60 261161  LOTEUL L HIH6NT?
a. searelwm@Lofl, GasmubyshasrT, Syt

b. snssE6I, Saeiwngof, HmenaGaed




34.

c. OrUWIBseS, &mEhdLg, OFeiTene
d. Gasrwibysanit, FGymH, Sitouf

Consider the following statements

Assertion (A): Planet Saturn when put in water it would float

Reason (R) : The planet Saturn has a specific gravity less than one

Now select your answer according to the coding scheme given below

a. Both A and R is true and R is the correct explanation of A

b. Both and R are true, but R is not the correct explanation of A

c. A is true, but R is false

d. A is false, but R is true

SIPHHEWIL  UTHPLMIBHENETS  SH6160T:

ammml (A) . FansCamer Hewiewitev CuTGLOUTH WGHHGLWD

smewid (R) : FeldBsmele QUuLTHd @eampall  @Gmpe).

&6 @MU Beiten GPuiliged Fflwmer alenLemuwid CaibosMH:

a. (A) wppid (R) Byewigo af, Gweud (R) eaiug (A) alBg gflwrer alendsid
b. (A) wpmd (R) Byemio afl, Guabd (R) eemg (A) alBg aflwner alendsoee
c. (A) afl, syemmed (R) seum

d. (A seum, sgemed (R) &
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35. The King who built the Kanchi Kailasanath temple is

a. Rajasimman b. Mahendran II

c. Narasimma Varman | d. Nandi Vraman III
6lh& LDGIIEUIEITED SHMEhFdH emBEUTEFHTHT GHmuled sl L i’ gi?
a. ®yregdlibioest b. ®yewi_mb @b yest

C. (LPSEVTD BHIEILDLDGUTLOGHT d. cwemBIDd [BHSeuTLDEs

36. Arrange the following periods in a chronological order
I.  Neolithic period
II.  Mesolithic period
III.  Chalcolithic period
IV.  Palaeolithic period

Of these
a. I, I, & IV b.IV,II, I & III c. [ IIL II & IV d. L L IV & 11
SLPDHSHEMIL6MEUSMET HTEV(LPMBLILIY euflenFLILBHS 61(LSHIH:

l. ydvw sBsTEVD

Il. @& sBSTEOLD

. Qaiys smevld

IV. uemwpw sBa&Tevld

BeuBpier:
AL L T wBsin 1V b. IV, II, | wimw 1
c. L, 1L 1 wign 1V d. 1L, 1, 1V wongn

37. Match the List I with List II correctly and select your answer using the codes given

below
List I List II
a. Justice party 1. E.V. Ramasamy periyar
b. Devadasi system 2. Dr. s. Dharmambal
c. Vakkam Hero 3. Dr. Muthulakshmi Reddy
d. Veera Tamilannai 4. Thiyagaraja Chetty
Codes:
A B C D
a 4 3 1 2
b 1 2 3 4
c 2 3 4 1
d 4 2 1 3

ulpwed | & uluwed Il o et Qurmgd), S8 GarThasiIul Beten GBuibsamend
Caremip Fflwmer alemLemwdh CHibOHH:
U iguied | uiguiso I
a. hPHsHsL g 1. Quilwnf m.Geu. gmogmL




38.

39.

40.

41.

b. Gxpeusrd (wewm 2. LU&LIT 61610. GH(HLOTLDUITET

C. maubsld aifT 3. LAGLT (p&HHI0eul &l QLlly
d. efyssiiipeenet 4. Fwsgmw QFLiguimT
GNCEINE
A B C D
a 4 3 1 2
b 1 2 3 4
C 2 3 4 1
d 4 2 1 3
Which one of the following is incorrectly matched?
a. Bhonsle - Nagpur
b. Holkar - Indore
c. Peshwa - Delhi
d. Scindia - Gwalior
SlpdbasemiLaupmien 61g Fflwmsll QuThHSHals0ene0?
a. GumerervGev - [BT&LT
b. Gammevait - BpBGsHTT
c. Guegeur - 19606V
d. Apdwir - G6umedwiT
Which one of the following is incorrectly matched?
a. Swaraj party 2 C.R. Das
b. Forward Bloc - Subhash Chandra Bose
c. Muslim League - Nawab Sailmullah Khan
d. Justice Party - E. V. R. Periyar
SpdbaHemiLeupmien 61g Fflwmsll QuThHbHHals0emne0?
a. &WITRWd &g - C.R. gmed
b. unfreut® enmes - &uTey FhAFGUITerd
C. (porelld 606 &L &l - BOUML F6Ul(LPELEVTSITEHT
d. pHésl 4 - Quilwr F.Geaugm
Which one of the following is correctly matched?
a. Delhi Durbar - S. N. Bannerjee
b. Abhinava Bharat - Savakar Brothers
c. Indian association - Dababhai Naoroji
d. Servant of India Society - W.C. Bannerjee
SIS BT uBMmIeT o1& FRwmsll QUTHbHHISBSHI?
a. GLeved situmT - S.N. urenied
b. ouipen LTS FmISD - FunTasT FCaTHITH6N
C. @hFHw FmIBD - STHTUTUI CBenCrmed
d. @bdw uewilwmenT FmisLD - W.C. umeoired
Which one of the following is incorrectly matched?
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43.

44.

a. New army regulations - Vellore mutiny
b. Sir John Cradock - Commander - in - chief
c. Lord William Bentinck - Governor of Madras

d. 4th Regiment rose in revolt against -Colonel Forbes
SLpdbaeniLeuBmieT 6% Fllwms GuTHHHale0men?

a. ygw @remie &ilg(Lpenmasei - Geuguri™ ®6ev&BLD

b. & e SHyLis - udLS Semugd)

C. aflebedwid Ouewngmi LIy - QF6aTene  SLEMHHT

d. 40 uewLinifey dentFduled FHUL LS - &HGeumerred GuMTLIeN

In India the first Agriculture Research Centre was started by

a. Lord Lytton b. Lord Curzon c. Lord Canning d. Lord Ripon
@hHwmaled (PHer(pHeorsd Geuenmemiens SITUIFS mLWSHMHH OCHTL MG WeT

a. el Lest Liyy b. siger yy c. smeim Lyy d. Mouest My
Consider the following statements

Assertion (A): The partition of Bengal in 1905 provided a spark for the rise of

extremism in the Indian National Movement

Reason (R ): Curzon’s real motives were to divide the Hindus and Muslims in Bengal

and to break the growth of Bengali nationalism

Now select your answer according to the coding scheme given below

A. Both R and R are true, but R is not the correct explanation of a

b. Both R and R are true and R is the correct explanation of r

c. Ris true, but R is false

d. A is false, but R is true

SIPHHWIL TSP LMIBHENETH  SH660T:

FBm (A) : @b Carlw BusssHHe0 &iger Liuelst 1905 1D LEWIQ6T RIS
Uflellener SHalFaursHsHHisEG 2 L6y STTUIOTS DIDLOHBHH

smyenid (R) : eumistensSelhhd BSaIbamenud (peroeSibamenuid Lleme|uBsH,

amBTeNSHHa CHdw ebmimwenw FTGHmelILCsh, HiTgFeaien o emuienoulTer GBTHEBLOMEGLD.

&6 @M Beten GPluiliged Fflwmer alenLemuwid CaiboSHMH:

a. (A) wppw R) e afl, Gweud (R) eeiug (A) albg sflwrer alendasos0e0

b. (A) wBpd (R) @yewibw &f, Gweid (R) eeug (A) alBg sfwmear alerdsd

c. (A) afl, gpemed (R) seum

d. (A) saum, spemed (R) &

Arrange the following in chronological order
I.  Sama Veda
II. Rig Veda
III. ~ Yajur Veda
IV.  Atharava Veda

Of these
a. LI I &IV b.IIL IV, I & II c. IV, I II & III d.IL IIL I & IV




&M60 eUMlenFLILIQ 6T(LDHIB:
l. gmp Geugld

Il. fé Geousld
1. wegem Geusld
IV. aipieuem Gaugsld
BeuBmiei:
a. I, L, 1 opgn 1V b. 11, IV, | opmio 11

c. IV, I, Il opmid 1l d. I, 1 T osgd 1V
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46.

47.

Group 1V 2012 OTHER GENERAL KNOWLEDGE

Match List I with List II correctly and select your answer using the codes given below

List I List II
a. WHO 1. Man and Biosphere
b. NPCB 2. National Leprosy Eradicating Programmae
c. NLEP 3. National Programme of control of Blindness
d. MAB 4. World Health Organisation

Codes:
A B C D

a 1 2 3 4

b 2 3 4 1

C 4 3 2 1

d 4 1 3 2

utuwed I &g uluwed I o L& Qumpsd), S6W ETHESULL (Heiten Guluibsamend CsTewi(h

gflwmer alewLenwd BHiThHOH6H:

Ul guied I U guied II
a. WHO 1. wals@id o uiitésGsmenpd
b. NPCB 2. Bpdw QaTeCHTUI @ilig S Lib
c. NLEP 3. Bxdlw unfiewen GmmuIs SUGEUUT. (S FHL LD
D. MAR 4. 2 0B GSTHT] [HDI6U6TLD
GBluiGseir:
A B C D
a 1 2 3 4
b 2 3 4 1
C 4 3 2 1
d 4 1 3 2

Find out which state has highest sex ratio as per 2011 Census

a. Tamil Nadu b. Bihar c. Kerala d. Gujarat

2011 W&EHMOBHTNS HewiboBBHLILIELY LTeden aldSlsd DHSD 2 6ffen OTHD GHBIULIGHS.
a. SIPBTH b. Wit c. Gayenm d. &ons

If Lords is to London

Chepauk is to Chennai

Eden Garden is to Kolkata

Then Green park is to

a. Indore b. Hyderabad c. Kanpur d. Nagpur

VEMIL IBE Fmply Cariug eumTl erd
Craremeris@ Fmriy Gamiugl GFliLmsasd
CamevashaTaydh@ Fply CaTlug FL6T ST 6Terd 6660,
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49.

50.

aflgiunis asBe Fnly Carssngs?

a. @pbEHT b. ewassyTUTS C. BTG d. mréyT

Which one is not correct?

a. Cricket - Vinod Kambali

b. Football - Maradona

c. Tennis - Sania Mirza

d. Hockey - Saina Nehwal

SHeummer Eenewl 61517

a. &féa6sL - al@eurmg; smiberf

b. smedLba - wyGLmerT

C. GLeireflerd - gmefwim T

d. e - QFwlem GBUIETED

Match List I with List II correctly and select your answer using the codes given below
List I List II
a. Wayne Roony 1. Brazil
b. Chorstan Ronaldo 2. Argentina
c. Maradona 3. The Netherlands
d. Ronaldinho 4. England

Codes:

A B C D

a 2 3 4 1

b 3 4 1 2

c 4 3 2 1

d 4 1 2 3

utuied | & uluwed Il o et QuImsE, S QBTHEHILL (Heten Gnluibsamend

Camenihy gflwrer alewLenwd CHTHO%HMH:

uiguied | uliguwieo
a. Qeuulest ¢mheoT 1. L9Grdled
b. @feviguies GymesmmeoGLi 2. OITElgemTgeIT
C. wyGLmeorT 3. OpBsTevmeniL
d. GyresmevigesiGanmi 4. @mRISeVTHSI
GBuibBse:

A B C D

a. 2 3 1 2

b. 3 4 1 2

C. 4 3 2 1

d. 4 1 2 3

Which one of the following statements is incorrect regarding Census, 2011?

a. 7th Census after independence
b. slogan is “Our Census, Our future”




51.

52.

53.

c. Conducted in two phases namely house and hosuing census, population enumeration
phase

d. Information about mobile, computer and internet users are not collected.

&6 OBTHSHSLILL(BHelTen auTHSWmIS6iled 6% HH6eT CFHTmed HewidsOd®BUY — 2011 uBm
SHAUBTET HB6UM6EVSH H(HBBSHI?

a. &FHITSHBGL LIBG BoOLOUBB 76ugl WEEETOSTNSS HantdholdBLIL

b. ‘Bg wWHHTOHTMBDH HenHOBBLIL BLOH THTHTEVD  6TeTLH BH6T (PHEU
UTFSLOTGLD

C. Orenip SLLMSNTS HOLOLUBBEH. i BLLLIQuIed LBBID &l Bhd HNSOBHBLIL, LSBT
CpTmad Hamis0sBLIY

d. walBud, sewiel wBBID Seewid LWSTLGSHIGMTT UBPuL HBHer6D
GoafobsLiLLalls0enev

Who among the following has been appointed the Chairman of the Nineteenth Law
commission?

a. Justice A. N. Ray b. Justice P. V. Reddi

c. Justice S. M. Sikri d. Justice Y. V. Chandrachud
LelreubUaTHEHeT LISHOSHTRILSTOUS HHSEG DN HeneoauFTsd BIUILOSSILIL L euT WwiT?

a. pHAWET 6.61631.8y b. pHwyar el Gyl

C. BHWISFT eter.61d. i d. pPwgsm quiel. FhaTE

Consider the following

Available primary energy sources in India are
I.  coal and Lignite

II. Oiland Gas
II. Oil alone
IV.  Electricity

Of these
a.l and II are correct b. II & III are correct
c. IIT alone correct d. I II & IV are correct

SDHHEWIL FnBBIHM6T DLUIH:

AhHWTaled HMLEGWD (PHETENLD SHLBBV CLPEUMIBEIT
[. Plovdafl wBpID 6ddbemen
II. erewQemrul LOBMID 6Ty
III. erewrGemrul oL (HLd

IV. Beiramyid
Beummler:
a. lwpmib I silwmereneu b. IT wimup 1T sfwrerene
c. III w' G sfiwmergi d. L I wppid IV sflwimerene

Match the List I with List II correctly and select your answer using the codes given
below




List I List I1

a. World Health Organization 1. Paris
b. Women Watch 2. Rome
c. United Nations Educational Scientific
and cultural Organization 3. New York
d. International fund for agricultural
development 4. Geneva
Codes:
A B C D
a 3 4 2 1
b 4 3 1 2
c 2 3 4 1
d 4 3 1 4

utuwied | & uluwed Il o et QuImsE, S QBTHESILL (Heten Gnluibsamend
Camewi®h sflwmer allemLamwd CaiThoHM:

U iguied | ulguied |l
ad. 2 60F SGHTHNJ [HmIeUeTLD 1. umflerd
b. QuemteeT SMILGLD 2. @ymb
C. m&aw BIhsaiear Heval Spialuied
LOBBILD HEOUTEFSFT] DIEHLOLIL] 3. pluwins
d. uesiemm B Geuenmemiento euenEFd B 4. Gmgefeur
GBuibBse:
A B C D
a 3 + 2 1
b 4 3 1 2
C 2 3 4 1
d 4 3 1 4
54. Which one of the following is correctly matched?
a. Father of Indian Planning - Gandhiji
b. The First Governor of Tamil Nadu - P.C. Alexander
c. First Women Prime Minister in India- Indira Gandhi
d. First President of India - Nehru
SpdbHemiauBpled 61k Fflwmes QUITHHEHID?
a. @baw L el FHHend - BMhHHe
b. SOWDBTLIQET (PBHE0 SLETHHT - P.C. 90608 ameumiLiT
C. @pFHwmalet WpHev Guewt LIFSHLOT - @BAHAIT BMHA
d. @bdwneler (1pHed eSS - G

55. Consider the following statements
I.  The Atomic Energy Commission was set up under the Chairmanship of Homi J.
Bhaba to formulate a policy for all atomic energy activities in the country.
II.  In 1956 India’s first nuclear reactor in Trombay near Bombay began to function




Which of the statements is/are correct?

a. I only b. IT only c. BothI & 1II d. Neither I nor II

BIDHHEWIL  UTHSIWLIBIBM6NTSH Here:

l. semiFss) gpementwid Gammdl 6@, UTUT 6IeTLAIT HemeLEmOUTEd HIBIOUILIL L &I HIL Q6D
GoBOeETTEMILBL SIEMIFHSH BLOAIYHMBHET GHBIHSH CBTeTmBMU BH MUGHHIHBSHI.

Il. 1956-60, (WpHevTaugk SigmiFdd Bleneowlld UDUTUISE DiHEBeeTen rmbGuuied
SIMSHILL[H HenL CLUBISBSH

Beuimiet 61g | etemeu Fifl:

a. |l wr@w b. Il wi @Gw

c. | wigd 1l d. b Gevemev b Bevenev

56. Thumba equatorial rocket launching station was established at which place in India?
I.  Bangalore
II.  Sriharikota
III.  Mahendragiri
IV.  Thiruvananthapuram

Of these
a. III only b. I only c. IV only d. IT only
@bFHwraled gibur UalbBeuedy JroholEBL 66 SHerD 61miGe6iengl?
l. QuBiseerHT
. nf amféG@smiLm
1. 1wBaspHHral
V. slpauambsLbd
Beummier:
a. Il o’ @B b. I o1 @Bd c. IV o (b d. Il @b

57. Match the List I with List II correctly and select your answer using the codes given

below
List I List II
a. H.J. Bhaba 1. Scientific and industrial research
b. S.S. Bhatnagar 2. Atomic energy
c. D.S. Kothari 3. Indian Space Research Orgnisation
d. Vikram Sarabhai 4. Defence Science Organisation
Codes:
A B C D
a 2 1 4 3
b 2 4 1 3
C 1 2 3 4
d 3 2 4 1

ulwed | & uluwed Il o et Qummgd), S8 GarThaslIul Beten GBuibsamernd
Caremi® gflwmer alemLenwd CaHiTho\%H6h:
U iguied | ulguied |l
a. a&. Gxg. umum 1. oflalwesd OFTPsL ITUIFS HLPSLD
b. ererb.eterd. LILBTHT 2. HIFHS HlOB




C. g.e1er0. Gamrg g 3. allewiGeual ouITUIFS HimleueD

d. elégid grymumul 4. urgismiy Siplealuied HinleueID
GNCEINE
A B C D
a 2 1 4 3
b 2 4 1 3
C 1 2 3 4
d 3 2 4 1

58. The Name of the organizations which are associated in the Chandrayan I mission are
given below. Identify the wrong one
a. ISRO b. BARC c. NASA d. ONGC
gpdrmuer [ o Ler GamLiymLw Hev Siemwliysel S6 Gldbalul (heenear. Siaumnled 61

SHOUBTH 6THILNSH GSBILILNBS?
a. ISRO b. BARC c. NASA d. ONGC




Group 1V 2012 PHYSICS

59. Electroplating is a process of coating one metal over the other metal by electrolysis. In
the electroplating of silver spoon with gold, the silver spoon must be taken as

a. cathode b. anode c. electrode d. both A and B
OSHI(LP6OTLD LL&iHeL 6L T o Geumadhdlent ugtiier g BT o Geordsddenet
WeTeMBUGLIL cpevld LFUILBSH0 uGD. @b Oeueitellsd sremiguile g Hhiskdaeneot

Ol6BTELP6OTLD L &igHeL (emmpuiled, Geueitellds  siyeuig a5 IhHHIS OCsmeTemiiuL
Bouemt(BLD

a. erdimdeseuu b. Grmdereurul

C. a6 d. (a) wBpd (b) Syewip

60. Which of the following statements is/are correct?
I.  During oxidation, addition of hydrogen takes place
II.  During oxidation, loss of electrons takes place
III.  During oxidation, gain of electrons takes place
IV.  During oxidation, addition of electropositive ion takes place

Of these

a. | & Il are correct b. Il alone is correct

c. Il alone is correct d. | & IV are correct

BDHHMIL FnBEpIBmen SUIHH o1& | etewal Fil el QBTHHBLIL Beiten GHMILILE6iT
oD CHite:

|. o15CamBaHale0, wamsL Jmer Cadbmae HaL GBS MBS
Il. 215ImCaIBBaHHe0, 6Te0HLJTaN BPHH0 HewL CLIBISBSHI
. 9 5mInCamBpsdled, 6evHLITe emBed Hewl GLBISBE
IV. sismigBabpshded, GphTder aemwoulmLwl el GsFTosliubBanBg

BeuBpler:
a. | wpgnp 1 sflwnerene b. Il o B> swmeig
C. Il ol sflwreng) d. l oppn 1V gflwrereme
61. How much current is consumed for a tube light which has 40W for domestic use?
a.0.2A b.0.5 A c1A d.5.75 A

il l9ed LWSTUBSSLILBLD 40 auml GLe0 alled@Gdh@ 6lelalene)] LOeEeITL L LD
CFevalL_LILBGSma?
a. 0.2 gy b. 0.5 bl c. 1 gublwir d. 575 gubilwir




62.

63.

64.

Group IV 2012 POLITY

The Chairman of the Finance commission is appointed by

a. the president b. the prime minister
c. the speaker of the Lok Sabha d. the finance minister
BHEGaTET HenevaIen] HIUILDEID OFUIaIg)

a. GLRWIGS SHem6v6UT b. Ugsw SE@WFFT

C. LD&&HENeN6N FLITHTUISBT d. g sewss

Arrange the following Prime Ministers in chronological order
I.  Charan Singh
II.  V.P.Singh
III.  Lak Bahadur Shastri
IV.  Chandrasekhar

Of these
a. Il L II &IV b. 1V, II, III & I
c. ILIIL IV & 1 d. IV, 11, I &1I

SpdbHeniL LITHD SIenFFTHmen HTevauflenaILBHSI®:
[. Hm. syewidm
II. gy.el.i.fm
III. &. eomevusHTT FTer0gfl

IV. . spHrCasit

Beupmier:
a. I, I, 11 & IV b. IV, IL Il & I
c. IL III, IV & I d. IV, III, 1 & 11

Consider the following statements

Assertion (A): The term “ideology” was coined by French scholar tracy
Reason (R ): Ideology refers to a set of beliefs, convictions and ideals of the people
Now select your answer according to the coding scheme given below

a. Both A and R are false and R is not the correct explanation of A

b. Both A and R are true and R is the correct explanation of A

c. A is true, but R is false

d. A is false, but R is true

BIDHBHEWIL  AUTHBIULIBIBM6NTSH Her6:

awmm (A) : oyeha oiepymen 198rd eraiLoUITED HHBHSHUID OFTE06OTSHSHLD
Ceuwiu’ L g

smyewid (R) : wésepeLw @eol fAwmiser, 2 pSILTHSE6T BLOL1SmBH6T LOBBID

BHSHHHH6T Bl OHTGULIemen HHHHUW GSBILIGSBSH
& @MU Betenm GMuiliged sFflwmer alemLemuwid CaThOHMH:

a. (A) wppw (R) Gremi seuml, Cweid (R) eeiug (A) albe sflwrer allendasos060




65.

66.

67.

b. (A) wBpw (R) @remiGw &f, Cweud (R) eewg (A) alBg sfwrear efendsbd
c. (A) afl, guemed (R) seum
d. (A) seaup, syemed (R) &

Which one of the following is not a qualification required to be the Vice President of
India?

a. He must be a citizen of India

b. He must be able to speak, read and write in Hindi

c. He must have completed 35 years of age

d. He must be eligible for election as a member of the Raiya Sabha

Lelteu(heuaieuBmieT @bHUl Hienewl GHLQRUWIHisHHemeoau]Tes CHTHOHBEBLILIGISBE DieudWILDT6T
5&I DOVTHHI 61517

a. 9T @HHW GYLHAMTE BHHH CeuewiBLD

b. olumdse BHdH Gusabd, LYSBaID eWHD OFMHH HEHS GouewiBLD

C. ouT 35 euwg mirblweures Smebs Geuemi(BLd

d. e, wrBekisenemauisd o mitnleanrss CHTHOHBHBIIL L H&GFH CUBBITS EHobD
Geuemr(HLD

Arrange the chronological order
I.  Dr. A.P.J. Abdul Kalam
II. ~ Dr. Shakar Dayal Sharama

II. K. R.Narayanan

IV.  P.Venkataraman

Of these
a.IV, I, IITand I b.IIL, I, IT and IV
c. L III, IV and II d.II, IV, I and III

&M60 euflenFLILIg 6T(LDHIH:
I. Dr. APJ. o1igi60 seomd
Il. Dr. smisTgwmed &om
1. K.R. mmymuwiewtest
IV.P. GeumisL et

Seupmier:
a IV, 11, Il whpn | b. 11, 1, 11 wigd 1V
c. L, LIV wppn 11 d. 11, 1V, | wignd I

Which of the following fund(s) is / are operated directly from the Prime Minister’s
Office?

I.  The Prime Minister’s National Relief Fund (PMNRF)

II.  National Defence Fund (NDF)

Of these




a. I only b. IT only c. BothI &II d. Neither I nor II
SLpHHMILmeUSH6ile0 eTemer LIFSHLofent jeiaevssHHelmhal Crrguns emaswmeniiLbGSBg?
l. Urswilar Chdlw meurgewnt K
Il. Caflw urgmisTIy B
BeuBpier:
a. | o @b b.lw G c. | wpgd d. Ib evemev b Sevemnev




68.

69.

70.

71.

72.

73.

Group 1V 2012 TAMIL LITERATURE

Who has complied Thirumuraikal?

a. Rajarajan I b. Kulothungan III

c¢. Nambiyandar Nambi d. Karuvur Devar
FHPOBHMENSH OHTGHHHUT WT?

a. (LPSHEVTLD  ETTETTEg601 b. cwemrd &GS aImime

C. BIDLIWIMEBTLMT [HbL] d. &smeyuTsH Bpeu

Which literature deals with the five disciplines to be followed in life?

a. Silappathikaram b. Manimegalai

c. Seevaga Sinthamani d. Valaiyapathi
oLmRSTITNWLRSaNd MbH RUES OBBiamer alend@ ST 61gI?
a. feolIuFsmyid b. wenBsamen

c. Fousdbhamoeni d. euemenuimug)

Who is the author of Iniyavai Narpathu?

a. Vilambi Naganar b. Kabilar

c. Poothan Senthanar d. Madurai Kanann Koothanar
‘Beflwener HIBUSI oT6lB HIrevlest @udfluim wimm?

a. ellembl b6 b. sLieur

C. LB 6hGFHSHeIT d. 10SIn]EH®ETEuT6H  gndHe0TTT

Which one of the following persons got Sahithya Academy award for puthu kavithai?
a. Vairamuthu b. Thilagavathi

c. Erode Thamizanban d. Indra Parthasarathi
UsHesalnsdE@ FTaHHHL DSTH0 alhdh GummeuT wimr?

a. MAUIIPSHSI b. Heovsaud)

c. F@Im®B HLOLD6ITLIGH d. @pdyr uniibsamyd)

How many Human emotions are mentioned by Tholkappiyar?

a. Seven b. Eight c. Nine d. Ten
CameoasTIiwT GPEULIGL Hod, SIPMS (WHeoTer GLUINLTHEH6MET  6TemTemntdhamHemUld
GBULBS.

a. g b. e ( C. QeI d. usal

Which one of the following poetry lines is not written by Bharathiyar?

a. Nemirntha Nannadai

b. Tamizhan Enruoru Enamundu

c. Thani Oruvanukku Unnavilaiyenil

d. Kakai Kuruve Engal Sathi

SaUBLD CHTLTHeN60 LUTTHWTT FopTdh CHTLTF & (BHb.
a. HIHS HesTeaTenL

b. e er@GBTMH Sei(Lpewi(h




74.

75.

76.

77.

C. HENOWMHeUIHE 2 _emraleney 61660
d. sremad GHmel emisen 2rd

Who released gold coin for Thiruvalluvar in British period?

a. G. U. Pope b. Caldwell c. Ellize d. Vinsulo
SLRIBCWIT HTeLHH60, H(HEUGTEHIT 2 (Haled HMis BTewiwd Oeuefluil LeuT wmT?
a. 29luy. Gum b. smeo®H06I60 C. 616060 d. eleraGeor
Choose the odd man out

a. Arivai b. Madanthai c. Vidalai d. Mangai
QUTHHSTHMBF &L (BHb.

a. 9iMene b. wLhos c. alLenev d. whms

Which of the following was written by Jayakanthan?

a. Marrapasu b. Parasikku po

c. Kallo Kaviyamo d. Moga Mul

SPHBTEID BHIT6VBHEH6T OWQWISMTHHET CTRHWIHI 61517

a. WylIug b. utflag@n Gur ¢ seiGenm sralwGwor d. Guors et

Who had written the following lines?

“Ellorum Inbuttrikka Ninaipathuve
Allamal Verondrariyen Para Parame”

a. Thaiyumanavar b. Vallalar
c. Arunagirinathar d. Kumarakuruparar
e160BeuM(HLD BT BBI(HBS HleneiLIFHIGe
Sleveumoed CeulmmemmlGuiesr LgmuyGL | - 6Tyl LIMguIeUT WImfT?
a. STULOTET6IT b. eueiteneuni
C. OImHetSMBTHT d. Gwy&mwuyT
78. Which type of Kutriyalugarm takes place in the word “Viraku'?
a. Vanthodar Kutriyalugarm b. Menthodar Kutriyalugarm
c. Uiyirthodar Kutriyalugarm d Idaithodar Kutriyalugarm
alB@ - BFOCFTeLe6L eTelaUmEHDH GHBNWISTD B DOILIBBI6TENSHI?
a. UTOBTLTS GSBMIWLeISILD b. QueaOsTLTeS GBwesFLD
C. 2 UMTHOSTLTS GHBNIWeSILD d. @wLs QFHTLTSH GBHuIeETID
(Logic)
1. Which one of the following is considered as a great character in human beings?
a. Kollena Kodothal b. Eeyan Enral
c. Kollaen Enral d. Eeyana Erathal
el HTHe M6 (G 6mmiEaTed ShalhHeuaTeUBBIeT 615 WSaID o WMheHH eaLmsHd GBIULIGS?
a. OzmeTOened OBTHHHE0 b. mGuwieit 6163360

c. CmmenBeres 6T6iTB6D d. rQwen ByHmHe0
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79. Which one of the following hormones is called personality hormone?

a. Growth hormone b. Oxytocin

c. Vasopressin d. Thyroxin

weld 2 Leled 6lendh OUTFIIMOIL LY (SLEHeND Heienilo) BTG 6leT) DIeNLPSHBHEBTLD?
a. auen&d ammirGLomest b. sysenILrdlein

c. eumGeromL i & esr d. esyrsdlen

80. The normal blood glucose level is

a. 80 - 120 mg/100 ml b. 70- 110mg / 100 ml
c. 60-110 mg/ 100 ml d. 50-110 mg / 100 ml
el 2 Leled Gueounel @JsHd GehdHCaTeniler olerey

a. 80 - 120 mg/100 ml b. 70- 110mg / 100 ml
c. 60-110 mg/ 100 ml d. 50-110 mg / 100 ml

81. Which endocrine gland is attached to kidney?

a. Pituitary gland b. Thyroid gland
c. Pancreas d. adrenal gland
wells FBBISSHIHIL T CBHTLTLMLUI BT6NMLOe060T &ILILT 61517
a. ML ggend b. esymuil &g
C. HemewIll Gyl d. o fared &y

82. The opaqueness of the lens of the eye is known as

a. Retinopathy b. Cataract c. Astigmatism d. Presbiopia
st Geveiterilent eefl BT SHesTenio ISIBI DIMPSHBLILIBGSMBSH

a. OQygGerrTuig) b. ®ewieny

C. SJeIgd oML IQFID d. WyerolGuimiwir

83. Find out the correct composition of Honey
a. sugar, Mineral, Pollen, Vitamin
b. Sugar, Protein, Pollen, Vitamin
c. Sugar, Mineral, Fat, Vitamin
d. Sugar, Mineral, Fat, Amino acid
Bxpefled smemrliLBLd Fflwimen eeOrIOUTHL ST WTeneu?
a. FTbamy, SHTHL LLH6IT, LSJHHHITET, neul L LOlest
b. Fidmey, UIHID, OBIHBHT6I, el L LOl6T
C. FTHEHMI, HTH 2 LIs6T, C&Tapliy, emeul L LoleT
d. sissamy, S o (yser, Gsmupriny, udGemm ofeold

84. Inheritance of genetic defects to children can be provided by

a. Somatic cell gene therapy b. Germ cell gene therapy
c. Cloning technique d. Karyotyping




wriwed @empun® CrTuisemen SIBhHDH HMEV(LPMMBHEG 6Fe060TI0 HBHD 2 HaD (LPeDB
a. 2 LBOgFe0 a1 FFFnF (pedm b. &a®F0gFe0 a1 AdFews (WedB
c. &Genmelm (Lpemm d. GaMGwmenL LI (wemwm

85. Consider the following statements
I.  Removal of tress and vegetation would affect both land and water ecosystems
II.  There will be lot of food for organisms

Of these
a. I is correct, but II is wrong b. Iis wrong, but II is correct
c. Both are correct d. Both are wrong

SIPHHENIL FnBBIHM6T DLUISH:
l. wyhisemen Geul (HeudTed @GLDLoGHIL VD (BT WBEID Hev UML) UTHSSLILIGSBSI.
Il. o WIfsepdd DHD 2 awiey Sl &EGLD.

BeuBBleN:
a. lsfl spemed Il sHeum b. 1 seum syemmed 1l &
C. ®yewiBGw & d. BrewihG Heum
86. Respiratory substrates are
I.  Carbohydrates
II.  Fats

III. Proteins
IV. Vitamins

Of these
a.l,lland IV ~ b.1, II and III c. Il and IV d.L II IIl and IV
GOUTES SHENLIGCILIT(HL 56T  6T6ITLIGH
l. snTGurenamL Gyl
Il. Gamepiiy
1. yrsb
V. eweul L Lfleiiae
BeuBpier:
a. I, Il wpgw IV b. 11 wppd 11
c. I, Il wppw 1V d. L 1L T oppin 1V

87. Haemoglobin is the pigment useful to transport gases. They are present in Red Blood
cells. Identify the animal which has blood without pigments

a. Human b. Birds c. Earthworm d. Cockroach
Fgand$aHa0sGl LwSLGL BB ansGur@Camisal. Bg @rHs Feull] Diamisseen
STELILBIBH. DISHHMSBW BBOwBB BrsHSd CuBB alevmid

a. L6y et b. uBmeuse C. LDGWTLY(LD d. syourer &d

88. Match the List I with List II correctly and select your answer using the codes given below
List I List I1




Codes:

an o

r—\N»bw:p

a. Cholera
b. African Sleeping sickness

c. Phlegm

d. Dandruff

B C D
4 2 1

2 1 3

1 3 4

3 4 2

1. Fungi

2. Virus

3. Bacteria
4. Protozoa

utuwied | & uluwed Il o L& QuImsE, S6W QBThESIUL (Beten Gnluibsamend
Camewih gflwrer alewLedwd CHiTHO%HMH:

U iguied | ulguied I
a. smeoym 1. Yehens
b. synifés srds alwng 2. edaUTer
C. fiy§F el 3. umsleflum
d. Qurhe 4,

GBuibGse:

A B C D
a 3 4 2 1
b 4 2 1 3
C 2 1 3 4
d 1 3 4 2

LGym_GLr@gmeur




